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. A product passes through three processes viz. A, B and C and there after it is
transferred to finished stock. The information 1s as under : i4
| ~ Particulars Process A | Process B | Process C

Units introduced (per unit ¥ 100) - -
Normal Wastage (percentage of input) _ 2.5% 5%
0

Sales value of Wastage (per unit ) 3 “

Abnormal wastage (No. of units) 550 i -

Cost per unit of abnormal wastage ¥ 200 —

Abnormal gain (No. of units) - - 250

Cost per unit of abnormal gain — .= 250

Actual Production 95% (7) (?)
Percentage of units introduced)

Additional Information :
(1) The abnormal wastage was 100% of the normal wastage in Process A.
(2) Factory overheads to be distributed as 25% of direct wages 1n all three processes.

From the above information, prepare process account, abnormal loss account and
abnormal gains account. ‘ Pt

OR

1. A productin a factory passes through two distinct processes. The product of the first
process less wastage and by-product becomes the raw materials for the second process.

All by-products are sold out directly from the factory. 14
Process-1 | Process-2
Raw material 3000 tons at T 80 per ton —
Wages < 100000 < 80000
Factory overheads 75% of Wages
Wastages 400 tons
400 tons at cost plus 20% __

Sale of by-products | 400 tons at cost plus 20% 400 tons at cost plus 25%

From the above information, prepare all process accounts and by-product accounts.
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2. A certain product passes through three distinct processes before it is transferred to

finished stock. The output of process X is transferred to process Y at a price calculated

to give a profit of 25% on the transfer price and output of process Y and process Z

transferred to stock at profit of 20% on the transfer price. e,
The following information is available on 31* March 2023 -

Particulars RE Process Y | Process Z | Finished Stock %
Opening Stock 60,000 | 40,000 1,50,000

Direct material 1,05,000 | 1,50,000

Factory overheads 70,000 30,000 | 2,00,000

Closing Stock 25,000 | 30,000 | 20,000 75,000

Inter Profit for Opening Stock - 55,000
Stocks in process are valued at f)rime cost form which it is reecived from process Z
during the year. Sales were ¥ 20,00,000. From the-above information, prepare all
process accounts of each process, finished stock account and statement of actual profit.

OR

2.  The following information is obtained in respect of process-2 for the month of March
2023 of Malli Ltd. :

Opening Stock : 10500 units; Material-1: ¥ 86,450, Material-2 ¥ 92,400,
Labour — ?_ 52,500, Overheads : ¥ 77,000.

Transfer from process-1 : 108500 units at < 3.50 per unit.

Transfer to process-3 : 91000 units

Expehses of proéess—2 : Mateﬁé] -3 2,10,000, Labour - X 4,20,000,
Overheads — X 4,90,000, -

Units Scrapped : 7000 units

Degree of completion : Materials 100%, Labour 50%, Overheads 30%.
Normal Loss : 10% of Production

Units scrapped realized < 3 per unit;

Closing stock : 21000 units. '

Degree of completion : Materials 60%, Labour 30%, Overheads 30%

14

From the above information, prepare :
(a) Necessary statements

(b) Process-2 account by using average method,

NC-108 8



3. The balance sheet of A and B Limited as on 31% March 2023 are as under : 14
Particqlars
I. Equity and Liabilities : Rk |
(1) Shareholders’ fund
(A) Equity Share capital of ¥ 10 each fully paid
Preference Share 12% of each of T 10
(B) Reserves and Surplus :
General Reserves
| Investment Rebate Reserve

Profit and Loss Account
(2) Non-Current Liabilities :
12% Debentures
I (3) Current Liabilities :
Creditors |
Bills Payable

tou

[I. Assets:
(1) Non- Current Assets :

Fixed Assets 11,00,000
(2) Current Assets :

Stock 2,50,000

Debtors | 1,25,000

Bank balance 25,000

| ' Total | 15,00,000 | 6,70,000

A Ltd. has decided to absorb the business of B I,td. on 1* April 2023 with the following
conditions : bt— |

(1)  The equity shareholders of B Ltd. will be given fully paid up 35000 equity shares
of A Ltd.of ¥ 10 each.

(2) The preference shareholders of B Ltd. will be given 12%, 1100 preference shares
of ¥ 100 each of A Ltd.

(3) _Debenture holders of B Ltd. will be given 15% new debentures of A Ltd. so that
company can receive the same interest as per last year.
(4) Investment rebate reserve is to be kept for another two years.

Prepare ~Balance Sheet after amalgamation from above details in following
consequences.

(a) Amalgamation is in the nature of merger

(b) Amalgamation is in the nature of purchase.
OR
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Write journal entries in the books of seller and purchaser at the time of amalgamation. 14

(A) Exphain the Amalgamation, Absorption and Reconstruction of a company in detail. 7

(B) Write a short note on Intrinsic Value of Share. 7
' OR
The following are the balance sheets of Zeel Ltd. and Dhrumil Ltd. as on 31* March
2023 : R . . _ 14
: ‘Zeel Ltd. | Dhrumil
Particulars @ Ltd. @)

I. Equity and Liabilities :
(1) Shareholders’ fund

(A) Equity Share of ¥ 100 each fully paid 8,00,000 —
~ Equity Share of ¥ 100 each 50 paid up - 6,00,000
(B) Reserves and Surplus
General Reserve ' 1,00,000 —
(2) Non-Current Liabilities :
10% Debentures | 3,00,000 | 2,00,000
(3) Current Liabilities :
Creditors 3,00,000 | 3,00,000

Total | 15,00,000

II. Assets:

1.  Non-Current Assets :

(@) Fixed Assets (Tangible) ~|7080,000 | 6,00,000

(b) Non-current Investments
Investments (Market value 100000) - 90,000

(¢) Other Non-current assets
Profit & Loss Account - 1,00,000

2.  Current Assets :

(a) Current Assets - 3,60,000 { 2,88,000
(b) Other Current Assets (Preliminary Expenses) 60,000 22,000

Total | 15,00,000 | 11,00,000
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On 1% April 2023 Zeel Ltd. agreed to absorb Dhrumil Ltd. on the following conditions :

(1) The fixed assets of Zeel Ltd. shown in the books are 10% less than the market

value whereas the current assets of Dhrumil Ltd. includes stock worth ¥ 88,000
which 1s overvalued by 10%.

(2) The purchase consideration was to be satisfied by issue of three fully paid equity
shares of Zeel Ltd. in exchange of ten equity shares of Dhrumil Ltd. on the basis

of intrinsic value of their shares and balance amount in cash.

Prepare ledger accounts in the books of Dhrumil Ltd. and pass necessary Journal
entries in the books of Zeel Ltd.

5.  Select the correct answer : (Any Seven) 14
(1) In a process, 2000 units were introduced, normal loss is 5%, then units of normal
loss are
(a) 100 (b) 250 (c) 300 (d) 200

(2) Which item 1s not recorded 1n process account ?

(a) Donation (b) Factory overheads
(c) Material (d)" Wages
(3) Transfer of production to subsequent process by adding 25% profit on transfer
price means
1
(a) 33 3 % profit on cost (b) 20% profit on cost
(c) 25% profit on cost (d) 40% profit on cost

(4) Production cost of first process is ¥ 20,000. If profit is added at 20% on transfer
price, what will be the amount of profit ?

(a) 5,000 (b) T6,250 (¢) ¥2,000 (d) < 8,000

(5) Unts sold 12000, opening stock 1000 units, closing stock 2000 units, then
production units —

(a)" 13000 (b) 11000 (c) 14000 °  (d) 12000

(6) In which of the following industry process costing is not implemented ?
(a) Construction Works (b) Dairy Products

(¢) Rubber Industry (d) Soap Industry
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(7) Net Assets + Goodwill =
(a) Capital Reserve (b) Total Assets

(¢) Purchase Consideration (d) Total Liabilitics

(8) Net Assets - Capital Reserve =

(a) Goodwill (b) Total Assets

(¢) Purchase Consideration (d) None of these

(9) In which year the Institute of Chartered Accountants of India has issued
Accounting Standard-14 ?

(a) 1993 (b) 1995 (c) 1994 (d) 1996

(10) While calculating net assets which of the following value of asscts are considered ?
(a) Book value (b) Market value

(¢) New value given (d) Average price

(11) Shares received from the new company are recorded at —
(a) Face Value (b) AveragePrice (¢) Market Value (d) None of these

(12) When two or more companies sharing on similar business, decided to combine, a
new company is formed, it is known-as

(a) Internal reconstruction (b) Absorption

(c) Amalgamation (d) External reconstruction
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